German Direct Fire Data Chart 1990-1995

Range Effectiveness
Unit Ammo | ROF ) Range in hexes :{Z’;ﬁ
o 7 2 3 4 ] 8 . 10 12 14 16 18 20 22
APDU 2 18:21(9:21(8:21(7:20|6:20|5:19|4:19(3:18}2:17 [1:16}. — — — — 3
AP 2 |8:19(9:1918:19(7:18(6:17 |56:16 |4:165| 3:14 | 2:13 | 1:12| — — - — 7
HESH 2 |8:13|9:13|8:13!7:13|5:1313:13(1:13| — - — — —_ — -
Leopard 2 : 3
HE 2 |6 |1wj1w|[10|1w]|9 | 8|7 |68 ]| —]—-|[=1-
IS 2 |~ 12020202018 |16 ]|14]12 10| - | - | -1 =11
SA 2146|642 -—{-]=-]-|_-1-1l-1<=1-1s3
APDU .1 3 | 8:2119:21 | 8:21 7120 6020 | 6420 [6:18 | 5:18 |4:172 | 3:16] 2:16| — | — — :]
Canistar | '3 | 20 | 40 | 40 { 40 {40 | 40 | — ~ | - = |- ] = — | 2
Leopard [ wipat*| 3 |8:18| 18 8:181 7:18] 7:18 [4:158 {6:18 [5:18 |4:18 [3:15 (2018 | — .
A% TMPHE=| 3 | €| 12| 12,12 | 12| w0 ]98 |8 |3 |-]- | -] -1°¢%
SA 243 ({81l86 {3 {1 -1 |-} -f1_-]-1]1~-]-1]s
SCHE | 5 | 2 | 3 [ 3 | 333 ]z21]: 1 1 -] -7 T - T1s
Marder | SCAP | 5 |88 |98 |88 |7:7{66 |65 4a2a3] — [ = - | - [ - - 10
(M1A2) |
M1A3 sh (2la]s6|lejal2l-|-|=-1-=-1=1=1=1=T1T=1T¢;s
Msl 1 — |8:19(|8:19(8:19]8:12{8:19|8:19] - — — — - — - [2(0)
SCHE 4 2 3 3 3 3 3 2 2 1 1 — - — — 15
tuchs  1"scap | 4 |88 |98 |88 | 7.7 |66 |55 | aa [23] — | — | — | — | = 1= |10
Mk 20 SA 2lafalala| 1| - -1 =-1T=ZT<T=1T=1T=1T<-Tio
Msl 2 — |8:1818:19(8:19|8:19(8:19(8:19/8:19|8:19 {8:19(8:19| — — —
Jaguar 1
HOT SA 2 4. 6 6 4 2 — — — — — - - — — 9
Msl 2 — |8:20|8:2018:20|8:20|8:20|8:2018:20 | 8:20{8:20| — — — — 7
Jaguar 2
Tow SA -2 4 6 6 4 2 — — — — -~ — — — — 9
SCAP** 5 {6:10(8:10| 7:9 | 6:B | 5:7 | 4:8 | 3:5 | 2:4 | 2:4 | 1:3 ] 1:2 — — -
Gepard - 12
SCHE 5 4 7 7 7 7 7 6 5 4 4 3 2 2 —
PiPz SA 2 4 6 [} 2 - — - - _ — - — — 9
Fuchs
M113, Miw SA 2 3 4 4 3 1 - — —_ — - —_ — — — 10
BIBER
Msl (A) 1 — [8:19(8:19(8:19|8:19{8:19|8:19| — — — — - — — 2
. Msl (B) 1 — [8:19(8:19[8:19(8:19(8:19 |8:19| — - — - — — — 1
:Ta;,tg MslC)| 1 | ~ la19lanefang|agfanglang| — | — | - [ = [ = = =11
HEAT 1 8:17|6:17 [ 2:17 | — — — - — — - - — — — 2
SA 2 8 6 4 1 - - — —_ — - — — - — 10
Engineer SA 2 4 3 1 — — -~ — — — - - — - — 10
HQ/TOC SA 2 2 2 2 - — — - — - — - — — - 4
PAH-1 Msi 2 — |8:19]8:19(8:19}8:19|8:19(8:19 |8:1918:19|8:19[8:19| — — — 3
AAM+ 1 — —_ 46 | 4.6 | 46 | 4:6 | 3:6 | 3:6 | 3:6 (36 |36 | 26! 2:61| 2:6 1
TOW A1 Msl 2 — |8:20(8:20(8:20|8:208:20|8:2018:20(8:20(8:20| — — — — 6
ROLAND SAMT 1 — — 146 |46 |46 | 46 | 3:6 |36 |36 |36 |36 |26 | 26|26 6
Mst ‘2 — 18:20(8:20(8:2018:20 | 8:20{8:20 |8:20 |8:20|8:20 | — = — — 2p
HEAT* 5 .16:12 [8:12|7:12]6:1215:12 |4:12 | 3121212 |1:12| — — — —. = Br
HE 5 3 7 7 7 7 ] 5 4 2 - = — —. —:
TCER | AapERs | 5 |10 i20 |20 | 20|20 |20 |10 | - | — | — 1~ — | - | =] 5
SCAP* 6 6:7‘ 8:6 |6:6 | 5:5 [4:4 | 2:3| 1:2| — = — — R e 2= 6
HE & 2 3 3 3 3 2 2 1 1 — — — - =
AaMmt | 1 | — | - lae |46 |46 |46 |36 |36 [36|36(36 |26]|26 |26 2p
et sa | 2 |3 st - —-|-1-|-|-1-|~-1~1s8
SCHE 4 2 3 3 3 3 3 2 2 1 1 - - — — 15
Fk20 | scAp* | 4 |88 o8 |88 77|66 55423 — [ [ 2T ] == [1s
AP 1 812 |8:12 \7:11|6:9 | 6:8 [3:6 | 4:4 | 2:3 — — - — — — 6
Jacopanzer| HEAT 1 (811|811 ,7:11]6:11|85:1113:11 (111 — — - _ - _ . 10
KANONE HE 1 7 7 7 7 7 6 — — — — - - - —
IS 1 — | a 7 7 7 | 7 Tl -l -1-1=-1=-1-1-= 1
SA 4 4 16 |6 |42 | -—1-]l-1-]1l-1=]1l=1l=1=13$8s
Stinger-E Stinger-E1 1 - — 56 | 5:6 | 5:6 | 46 | 4.6 | 4:6 (46 | 4:6 | 3:6 |3:6 — = 2




